‘/ Algebra 1 - Test Review Name:

Graphing Quadratic Equations & Characteristics & Transformations e \J

Describe the transformation using the quadratic equation.

I f(x):a%x2 2. f(x)=(x-1"+5

Horizontal Shift: 7m Horizontal Shift:

Reﬂec’rion: X-QXis  y-axis : Reflection{_no ‘,

X-axis  y-axis
Vertical Shift: _ LMD - Vertical shift: __UP_&~
Dilation: none stretch ~ Dilation: s’rre’rch shrink

3. f)=5x"+2 4. f(x)=-02(x~7)"-10
Horizontal Shift: ___ WAL Hortontalshift: Y24 %M 1

Reflection: X-0xXis  y-cixis Reflection: noneg¢” : ) y-axis

Vertical Shiff: vy 7 Vertical Shift: mé;w% \0

(Treich shrink Dilafion: none stretch Chrink )

Identify the vertex of each graph:; identify whether it is @ minimum or a maximum.

Dilafion: none
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Vertex: ( {29 Mf\u | vertex: #2, 4) _MAL

Without graphing the guadratic functions, complete the requested information:

7 f(xy=3x"-Tx+1 g(x):—%x2+x—3

Whatis the direction of opening? _VE What is the direction of opening? téﬂ\kﬂ\’d
Is the vertex a max or min®g _M;W_\J Is the vertex a max or ming {4 & %

Wider or narower than y = x*¢ w\l\l Wider or narrower thany = x22 N\.f:@j



Graph the following equation and find the requested information.

9. flx})=-x2+2x+ 3 Opens Up or 10. f(x)=2x2-8x+ 6 Opens:@)r DOWN
wndad

Form: __ < A YA (LN _‘ Form: __9 4. -

AQOS: )( Ver’rex

' _ AOS: _Xi_ Vgrtex: _éll_”@
y-intercept: “2’. Q y‘ y-intercept: __{ 0;. 122 | ¥, .
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11, f{x)= 0.5(x = 2)(x + 4] Opens: (5 or DOWN 12, f(= x(x+2) Opens: UP or'

Form: ___INMNITA DY - Form: | 4 Va il
x-intercepfts: f@iiﬁ(“‘-*h@ 3 xm’fercepfs /UJ&\/ 2\0)

AQS: - \/er’rex {

-gf\

AQS: g"" i rfex: { by - 'j
y-intercept: - y-intercept: HJ; ) ¥,
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13, f(x)=3(x~1)2~10 Opens DOWN

Form: V@/\(‘b{){ —

AOS: Y= Vertex: __ {1y -10) AOS: = \/erTex (i,-7)
y-mTercepT (O, i ) y-intercept: o v, '
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Vertex Jl l (h 15, pmogiine \g..

Domain ( :PJE“) : ¥

Range T 0 { GﬂB U SO S ,,\M ST SO SN S -
Increasing Interval [' ' W\’ &

Decreasing Interval (...ﬁa' r) ‘ 4

Zeros ( ) I@} \ .,

Y-intercept {0 / !} , \: /
Maximum ]

Minimum | 19 ':;,-, ) t X
Axis of Symmetry %«; ﬁ A S e e S A t.*
Left End Behavior | Asx>-0,y> o 1 1.2 4 H ¥
Right End Behavior | Asx=> o, y> 2~ 2

Vertex f T ;{V) 16. 5

Domain /:oo‘ &2}\) 4

Range /;-—wc'. b\j %

Increasing Interval (v_w' a 2

Decreasing Interval { Z, @ 4 /{

reros (6:0)( 4.0}
Y-intercept {0, 5;} h&
Maximum W= QE - A \
Minimum / fﬁ \

Axis of Symmetry

=T

Left End Behavior

ASX>-00,y> =&

Right End Behavior

As x> 0, y> =P

17. What is the vertex of the following quadratic function f(x)=~-3(x - 2y +4%2

A. (-3.-2) B. (-2, 4} C. (2 4)
& 18. Which of the following graphs has an increasing interval from (-, -2)2
¥

D. (-3 4)
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9& 19. What transformation occurs in this function fx)=x’-7¢2

A. down 7 units B. up 7 units C. right 7 units D. left 7 units



